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IB Math HL1 (Derivatives of Inverse Trig Functions) = Name: Ié eg Period:

Inverse sine function: Inverse cdGine f‘u'hmn ﬂ. L (OS; )(
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1. Sketch f(x) =sinx, where x € [-—,—]
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2. At the same axes above, sketch /' (x) = arcsinx (sin™ x) 2. At the same axes above, sketch S (x) =arccos x(cos™ x)
3. What is domain and range of f—l (x)? 3. What is domain and range of f o (x)?

Domain: [-1,17 Range: [T T pomain: [1,1]  Aarsa: oK)

where x € [—1,1]
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dx 1-x
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Inverse tangent function:

Inverse Cotangent function.
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2. At the same axes above, sketch ' (x) = au:lan t(tan "x) d,_ I ( CSCJ;“ xﬁ']
3. What is domain and range of £~ (x) ? “dx = —(sc Aé '
Domain: (-09, 0o ) ,QW (-% = a. A, _ - |
ax X2y |
4.. Show a(‘tan_1 x)= o where x € R Optional: Prove the following derivatives:
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Practice)
1. y=cos_1(x2) 2.y=sin_1(\/§) 7. y=8x 8. y=3cotx
3. y=sec(2x+1) 4. y:csc"(x2+1) 9. y=(lnx) 10. y =log, x*
5 I
5 y=(cot‘]\/x—l) 6. y=tan” x> —1+csc x 11. y=log 12. y=log,(1+xIn3)
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